2. Bez
1. *
2. *
3. *
4. *
5.
6. *
7. *
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11. *
12. *
13. *
14, *
15, *
16. *

HH,=12cm
AB =44 cm
B =40°
CW, = 4cm
ha.=4,5cm
Sp = 4,7cm
c=4,2cm

Sa = 3,6cm
Sc=7,2cm
a=6cm
b=6,1cm
0=2cm
a=112°
a=7cm
c=7cm
c=8cm

2. Bez Dreiecke
Mauro Nogara

Dreiecke

Winkel HAB = 48°

MM, =1,1cm
Y = 65°

BW, = 4,8cm
AW, =5cm
a=7cm
Sc=5cm

Sc = 6,3cm

Sp = 7,5cm

b =5cm
c=4,6cm
BH.=6,1cm
hc=4 cm

hy, =5,5cm
Sc=5cm

hy =5 cm

AB 3

Winkel H.BHp = 31° (Zusatz)
B =55°

BW,, = 6,2cm

Winkel CW A = 55°

a=70°

gleichschenkliges Dreieck mit Basis ¢
gleichschenkliges Dreieck mit Basis ¢
gleichschenkliges Dreieck mit Basis ¢
gleichschenkliges Dreieck mit Basis ¢
Sc = 4cm

Sa=>5,2cm

BO =6cm

wy =5,5cm

wy =6 cm

Winkel zwischen hc und s¢ = 15°

Winkel zwischen b und s. = 30°

AB3



